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1. ____________ allows the traders to file all documents 
electronically 
(a) Shram subidha portal 
(b) SANKALP 
(c) E -sanchit 
(d) None 



 

 

 
2. India has shown improvement in which of the 
following 
(a) Starting a business 
(b) Trade across borders 
(c) Paying taxes 
(d) All of the above 
 



 

 

 
 
3. What is the rank of India in terms of getting electricity 
in 2019 
(a) 77 
(b) 55 
(c) 24 
(d) 36 



 

 

 
4. SPICe stands for 
(a) Simplified proforma for incorporating company 
electronically 
(b) Simple program for indian company 
(c) Simple performance of Indian companies in export 
(d) Simple proforma for incorporating company in 
exports 



 

 

 
5. The largest of the mergers announced is that of Punjab 
National Bank with Oriental Bank of Commerce and 
_____ 

(a) State bank of india 
(b) Sind bank 
(c) Dena bank 
(d) United bank 



 

 

 
Q6. After merger Punjab National Bank will be second 
largest with total branches ___ 

(a) 11437 
(b) 11477 
(c) 11548 
(d) 11256 



 

 

 
Q7. ________ is a subsidiary of the Bank of Baroda 

(a) Dena bank 
(b) Jammu and Kashmir bank 
(c) Nainital bank 
(d) Allahabad bank 

 



 

 

 
 
Q8 Ujjiwan,Equitas,Suryoday,Fincare are all 

(a) Private banks 
(b) Commercial banks 
(c) Small banks 
(d) All of the above 



 

 

 
 
Q9 Global trust bank was merged with _____ in 2004 

(a) State bank of India  
(b) Oriental bank of commerce 
(c) HDFC 
(d) ICICI 



 

 

 
 
Q10.SHCIL  stand for 

(a) Stock Holding Corporation of India Ltd, 
(b) Stock hoarding commission of india ltd 
(c) Share and house corporation india ltd 
(d) None 



 

 

 
Q11  onJuly 1, 1948, _____was the first Development 
Financial Institution in the country 

(a) IFCI 
(b) ICICI 
(c) SIDBI 
(d) IDBI 



 

 

 
Q12. Small Industries Development Bank of India 
(SIDBI) set up  

(a) on 2nd April 1990 
(b) on 2nd april 1997 
(c) on 2nd april 1992 
(d) on 2nd April 2000 



 

 

 
Q13. MUDRA was set up in 

(a) 2015 
(b) 2004 
(c) 2000 
(d) 2018 

 



 

 

Q14. With an aim to boost innovation and entrepreneurship in agriculture, the 
Government of 
India is introducing a new AGRI-UDAAN programme to mentor start-ups and to 
enable them 
to connect with potential investors 

(a) AGRI-SAPNA 
(b) AGRI – START UP 
(c) AGRI -UDAAN 
(d) AGRI -MUDRA 



 

 

 
Q15. aimed at development of irrigation 
sources for providing a permanent solution from drought. 

(a) Pradhan mantra krishisinchaiyojna 
(b) Pradhan mantra krishipaaniyojna 
(c) Pradhan mantra krishiaajeevikayojna 
(d) All of the above 



 

 

Q16 SAMPADA stands fo 

(a) Scheme for Agro-Marine Processing and 
Development of Agro-Processing Clusters 

(b) Scheme for agricultutral and management for 
productivity and development association 

(c) Scheme for Agro-Marine Processing and 
Development of advanced seeds 

(d) NONE 



 

 

Q17. The Government of India has allowed ____per cent 
FDI in marketing of food products and in 
food product e-commerce under the automatic route 

(a) 50 
(b) 25 
(c) 75 
(d) 100 



 

 

 
Q18. India is expected to become the ____ largest 
manufacturing country in the world by the end of year 
2020 

(a) Fifth 
(b) Sixth 
(c) Seventh 
(d) Tenth 



 

 

Q19. As of December 2018, premium smartphone maker 
____ is anticipating that India will 
become its largest Research and Development (R&D) base 
within the next three years 

(a) Toshiba 
(b) Samsung 
(c) One plus 
(d) Nokia 



 

 

Q20. India is currently the second largest 
telecommunication 
market and has the ____ highest  of internet users in the 
world. 

(a) Third 
(b) Second 
(c) Fourth 
(d) Fifth 



 

 

 
Q21. SEIS is aimed at promoting ___-of services from 
India by providing duty scrip credit for 
eligible ____ 

(a) Import, export 
(b) Import, import 
(c) Export, import 
(d) Export,export 



 

 

 
Q22. Under “this” scheme, a reward of 3 to 5 per cent of 
net foreign exchange earned is given for 
Mode 1 and Mode 2 services, what is “this” ? 

(a) SEIS-service export from india scheme 
(b) SXIS- service of export and import scheme 
(c) SARS—service for advanced revenue scheme 
(d) None 



 

 

 
Q23. The National Digital Communications Policy 2018 
envisages three missions 

(a) Connect,propel,serve 
(b) Connect, prosper, secure 
(c) Communicate, propel, secure 
(d) Connect , propel , secure 



 

 

 
Q24. 100 per cent FDI is allowed in 

(a) air transport service,regional air transport service 
(b) aviation for foreign carriers 
(c) education sector through the automatic route since 

2002. 
(d) All of the above 



 

 

 
Q25. UTI was formed in 

(a) 1963 
(b) 1962 
(c) 1964 
(d) 1965 

 



 

 

 
Q26. UnitScheme 1964 (US ’64) was the first scheme 
launched by UTI. 

(a) Utility scheme 
(b) Unit scheme 
(c) Unit linked scheme 
(d) None  



 

 

 
Q27. SBI Mutual Fund was the first ‘non-UTI’ mutual 
fund established 
in June 1987 

(a) Imperial mutual fund 
(b) Hdfc mutual bank 
(c) Axis bank  
(d) SBI mutual fund 



 

 

 
Q28. LIC established its mutual 
fund in ___ 

(a) 1989 
(b) 1991 
(c) 1990 
(d) 2000 



 

 

 
Q29 In September 2018, National Health Protection 
Scheme was launched under _____________ 

(a) Ujjwal bharat 
(b) Jeevan bharat 
(c) Aayushmaan bharat 
(d) Mera bharat 



 

 

 
Q30. PMFBY stands for 

(a) Pradhan mantrifasalbimayojna 
(b) Pradhan mantra fasalbyaparyojna 
(c) Pradhan mantra famous bank yojna 
(d) None 

 



 

 

 
 
Q31. IRDAI  stands for 

(a) Insurance regulatory development authority of india 
(b) Insurance revision direction augmentation of india 
(c) Insurance regulatory deployment auditing of india 
(d) None 



 

 

 
Q32. _____ is  the statutory regulatory 
body for insurance and ending the monopoly of LIC and 
GIC 

(a) FEMA 
(b) FERA 
(c) SEBI 
(d) IRDA 



 

 

 
Q33 SATH selected three states for applying the two main 
projects of Health and Education, they were – Jharkhand , 
Madhya Pradesh and ___ 

(a) Rajasthan 
(b) Bihar 
(c) Orissa 
(d) None 



 

 

 
Q34. The program is being implemented in these States 
along with knowledge partners B  

(a) Boston Consulting Group (BCG) & Piramal 
Foundation for Education Leadership (PFEL 

(b) Infosys, Wipro 
(c) PWC , Cognizant 
(d) JP Morgan , Morgan and Stanley 



 

 

 
Q35.The Ministry is also responsible for administering the Competition Act, 2002 
to prevent practices having adverse effect on competition, to promote and sustain 
competition in markets, to protect the interests of consumers through the 
commission set up under the Act 

(a) Ministry of finance 
(b) Ministry of external affairs 
(c) Ministry of corporate afafirs 
(d) None 
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1.Who has been appointed as India’s Sherpa for G20? 

[A] Piyush Goyal 

[B] Ashwini Vaishnaw 

[C] Mansukh Mandaviya 

[D] Subrahmanyam Jaishankar 



 

 

2.The name of UTI bank ltd was changed in 2007 as 
which of the following? 

[A] AXIS bank 

[B] YES Bank 

[C] Indian Bank 

[D] Federal Bank 



 

 

3.Approval of which among the following is needed to 
draw funds from Consolidated Fund of India? 

[A] President 

[B] Parliament 

[C] Council of Ministers 

[D] All the above 



 

 

4.Who is the first India born woman economist to become 
chief economist at International Monetary Fund? 

[A] Arundhati Bhattacharya 

[B] Gita Gopinath 

[C] Chanda Kochhar 

[D] None of the above 



 

 

5.Which among the following is not the function of the 
NITI Aayog? 

[A] To evolve a shared vision of national development priorities sectors 
and strategies 
[B] To foster cooperative federalism 
[C] To create Five Year Plans for the country 
[D] To create a knowledge, innovation and entrepreneurial support 
system 

 



 

 

6.Which Economist highlighted ethical consideration 
behind his economic thinking? 

[A] Francis Fukuyama 

[B] Abhijit Banerjee 

[C] Amartya Sen 

[D] Friedrich Hayek 



 

 

7.Which of the following is not an example of the 
secondary sector? 

[A] Artisan production 

[B] Textile Mills 

[C] Food production 

[D] Nurse 



 

 

8.Who is the first Indian Army Chief to visit the United 
Arab Emirates (UAE) and Saudi Arabia? 

[A] M M Naravane 

[B] Bipin Rawat 

[C] V K Singh 

[D] Ajit Doval 



 

 

9.Which Indian personality has been chosen for “Global 
Visionary of Sustainable Business and Peace” honour? 

[A] Narendra Modi 

[B] Ratan Tata 

[C] Mukesh Ambani 

[D] Sachin Tendulkar 



 

 

10.Which Indian state has won the Digital India Awards 
for innovative steps in e- governance during pandemic? 

[A] Odisha 

[B] Bihar 

[C] Gujarat 

[D] Kerala 



 

 

11.Who has been appointed as the 48th Chief Justice of 
India? 

[A] Justice NV Ramana 

[B] Justice Uday Lalit 

[C] Justice Arvind Bobde 

[D] Justice Nariman 



 

 

12.Who represented India in the first BRICS Finance 
Ministers and Central Bank Governors (FMCBG) 
meeting? 

[A] Narendra Modi 

[B] S Jai Shankar 

[C] Nirmala Sitharaman 

[D] Shaktikanta Das 



 

 

13.Cornwall, the host of this year’s G-7 Summit, is located 
in which country? 

[A] Switzerland 

[B] United Kingdom 

[C] Italy 

[D] Brazil 



 

 

14.The Narendra Modi Stadium, which was seen in the 
news recently, is located in which place? 

[A] Ahmedabad 

[B] Gandhinagar 

[C] Vadodra 

[D] Mumbai 



 

 

15.Wular, Asia’s second largest freshwater lake, is 
situated in which country? 

[A] India 

[B] Japan 

[C] China 

[D] Nepal 
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1. A __________ sentence contains only one finite verb 
and can make only one complete statement. 

(a) Simplex 

 (b) Compound 

(c) Complex  

(d) None of the above 



 

 

2. It is used to construct word to clarify meaning. It links 
words to form compound word. 

(a) The Hyphen (-)  

(b) Comma (,) 

(c) Full stop (.)  

(d) None of the above. 



 

 

3. Does wood sink in water? (Which word is a material 
noun?) 

(a) sink  

(b) does 

(c) water 

 (d) wood 



 

 

4. My mother wears gold jewelry, (which word is a 
material noun?) 

(a) Wears 

(b) jewelry 

(c) mother 

(d) gold 

 



 

 

5. Crowd was on main street. (Which word is a collective 
noun?) 

(a) crowd 

(b) main 

(c) on 

(d) street 



 

 

6. They gazed across valley. (Which word is a common 
noun?) 

(a) across 

(b) gazed 

(c) they 

(d) valley 

 



 

 

 

7. Honesty is best policy. (Which word is an abstract 
noun?) 

(a) best 

(b) Honesty 

(c) policy 

(d) the 



 

 

 

8. I believe in his honesty. (Which word is an abstract 
noun?) 

(a) in 

(b) believe 

(c) honesty 

(d) I 



 

 

 

9. Kiran performance was not impressive in test. (Which 
word is a proper noun?) 

 (a) test 

(b) impressive 

(c) Kiran 

(d) Performance 



 

 

 

10. Heroes never lay down their words. (Which word is a 
plural noun?) 

(a) never 

(b) heroes 

(c) lay down  

(d) words. 



 

 

 

11. Moon shines at night, (which word is a proper noun?) 

(a) Moon 

(b) night 

(c) Shines 

(d) At 

 



 

 

 

12. We need peace in our state. (Which word is an abstract 
noun?) 

(a) state 

(b) peace 

(c) need 

(d) our 



 

 

13. What a great idea! He cried. (Which word is a 
countable noun?) 

(a) great 

(b) what  

(c) cried 

(d) idea 

 



 

 

14. Can you give me some advice? (Which word is an 
uncountable noun?) 

(a) some 

(b) give 

(c) you 

(d) advice 



 

 

15. Children broke window pane. (Which word is a plural 
noun?) 

(a) broke 

(b) window pane 

(c) children 

(d) the 



 

 

16. Where was Sara? Did you see her? (Which word is a 
proper noun?) 

(a) Was 

(b) where 

(c) Sara 

(d) See 

 



 

 

17. How many students in your class? (Which word is a 
countable noun?) 

(a) many 

(b) students 

(c) class 

(d) your 

 



 

 

18. My chair is made of wood. (Which word is a material 
noun?) 

(a) wood 

(b) made of 

(c) chair 

(d) my 



 

 

19. Rice is my favorite dish. (Which word is an 
uncountable noun?) 

(a) my 

(b) dish 

(c) favorite 

(d) rice 

 



 

 

 

20. My mother is a wise lady. (Which word is an abstract 
noun?) 

(a) lady 

(b) my 

(c) wise 

(d) mother 



 

 

 

21. Do not hide fact. (Which word is word a countable 
noun?) 

(a) hide 

(b) the 

(c) fact 

(d) do not 



 

 

22. Why do you tell a lie? (Which word is an abstract 
noun?) 

(a) tell 

(b) lie 

(c) you 

(d) why 



 

 

23. We get wool from sheep. (Which word is a material 
noun?) 

(a) sheep 

(b) wool 

(c) get 

(d) from 



 

 

24. You can settle everything in a friendly manner. (Which 
word is concrete noun) 

(a) settle 

(b) can 

(c) friendly manner 

(d) you 

 



 

 

 

25. Taj Mahal is a sign of love. (Which word is a proper 
noun?) 

(a) Taj Mahal 

(b) sing 

(c) love 

(d) is 



 

 

 

26. Beauty does not need any ornaments. (Which word is 
an uncountable noun?) 

(a) need 

(b) beauty 

(c) any 

(d) ornaments. 



 

 

27. He was reading a newspaper. (Which word is a 
common noun?) 

(a) newspaper 

(b) was 

(c) a 

(d) he 



 

 

28. My family supports me. (Which word is a collective 
noun?) 

(a) family 

(b) me 

(c) supports 

(d) my 

 



 

 

 

29. My grandfather walks extremely slowly. The adverb 
"extremely" modifies 

(a) verb 

(b) adverb 

(c) noun 

(d) pronoun 



 

 

 

30. Your roommate drives quite fast, doesn't she? The 
adverb "quite" modifies 

(a) verb 

(b) adjective 

(c) adverb 

(d) noun 



 

 

31. We rarely go to the movies on the weekends. The 
adverb "rarely" modifies 

(a) adverb 

(b) pronoun 

(c) verb 

(d) noun 



 

 

32. Our house is practically on the highway. The adverb 
"practically" modifies 

(a) sentence 

(b) prepositional phrase 

(c) verb 

(d) conjunction 

 



 

 

 

33. Obviously, I could be wrong. The adverb "obviously" 
modifies 

(a) verb 

(b) pronoun 

(c) clause 

(d) noun 



 

 

 

34. My niece reads well for a five-year old. The word 
"well" is 

(a) adjective 

(b) adverb 

(c) verb 

(d) pronoun 



 

 

 

35. Your friend Robert drives a fast car. The word "fast" is 

(a) pronoun 

(b) adverb 

(c) adjective 

(d) noun 
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1. Article _______of Indian Constitution discusses the concept of Right to equality. 
 
a) Article 5 
 
b) Article 11 
 
c) Article 12 
 
d) Article 14 

 



 

 

 
2. Which Article is related with “Abolition of Untouchability”? 
 
a) Article 20 
 
b) Article 19 
 
c) Article 18 
 
d) Article 17 

 



 

 

3. Which of the following is called ‘Mini Constitution’? 
 
a) Government of India Act, 1935 
 
b) 42nd Constitutional Amendment 
 
c) 44th constitutional amendment 
 

d) Government of India Act, 1919 



 

 

4. Which of the following statements is false? 
 
a) Most of the structure of the Indian Constitution has been taken from 
the Government of India Act, 1935. 
 
b) The original constitution had 10 schedules 
c) The part related to Polity of the Indian Constitution is taken from the 
British Constitution 

d) Article 368 is related to the constitutional amendment 

 



 

 

5. What is known as a charter of a Company? 
 
a) Memorandum of Association 
 
b) Bye Laws c) Article of Association 
 
d) Prospectus 
 



 

 

6. Which of the following feature is not essential for a 
contract? 

a) It should be in writing only 

b) free consent of parties competent to contract 

c) lawful consideration and with a lawful object 

d) It should not be declared void expressly 

 



 

 

7. A person who is the husband of my son’s sister is my 

 

a) Nephew 

b) Son-in-law 

c) Son 

d) Brother 

 



 

 

8. In a row of trees, one tree is fifth from either end of the 
row. How many trees are there in the row? 

a) 8 

b) 9 

c) 10 

d) 11 

 



 

 

9. Look at this series: 12, 11, 13, 12, 14, 13, … What 
number should come next? 

a) 10 

b) 16 

c) 13 

d) 15 

 



 

 

10. Which word does NOT belong with the others? 

 

a) Tyre 

b) Steering Wheel 

c) Car 

d) Engine 

 



 

 

11. In which year, Article 370 of Indian Constitution is 
abrogated? 

a) 2016   

b) 2017 

c) 2018 

d) 2019 

 



 

 

 

12. What is the meaning of adjournment ‘sine die’? 

a) Terminating a sitting of the state legislature for an indefinite period 

b) Terminating a sitting of the state legislature for some hours 

c) Terminating a sitting of the state legislature for some days 

d) Terminating a sitting of the state legislature for some months 

 



 

 

13. The Supreme Court of India at present contains the 
following number of Judges? 

a) 25 judges 

b) 34 judges 

c) 20 judges 

d) 30 judges 

 



 

 

14. Every promise and every set of promises forming the 
consideration for each other 

a) A proposal 

b) An offer 

c) An agreement 

d) None of above 

 



 

 

15. A proposes by letter to sell a house to B, the 
Communication of the proposal is complete 

a) When A make such proposal 

b) When B accepts the proposal 

c) Both (a) and (b) 

d) None of above 

 



 

 

16. The word ‘Tort’ derived from ‘LATIN’ term 
‘TORTUM’ means 

a) To twist 

b) To Torn 

c) Both A and B 

d) Neither A Nor B 

 



 

 

17. Look at this series: 36, 34, 30, 28, 24, … What number 
should come next? 

a) 22 

b) 26 

c) 23 

d) 20 

 



 

 

18. Which word does NOT belong with the others? 

 

a) Index 

b) Glossary 

c) Chapter 

d) Book 

 



 

 

19. Safe: Secure :: Protect : 

 

a) Lock 

b) Guard 

c) Sure 

d) Conserve 

 



 

 

20. Statement: Medicine ‘P’ is a drug which is causing ripples in 
the medical field. 
Assumptions: I. No other drug is causing ripples in the medical 
field. 
II. Medicine ‘P’ is a great drug. 
 
a) If only assumption I is implicit. 
b) If only assumption II is implicit. 
c) If either I or II is implicit. 
d) If neither I or II is implicit 
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1. Which of these is not a type of text for reading? 

(a) Reference material 

(b) Chats 

(c) Scientific text 

(d) Technical text. 



 

 

2. Which of these is not a deterrent to the listening 
process? 

(a) Lack of interest 

(b) Ego 

(c) Confidence 

(d) Fear 



 

 

 

3. Which of these is the first step in the listening process? 

(a) Stop talking 

(b) Receiving 

(c) Interpreting 

(d) Responding 



 

 

 

4. Which of these is the third step in the listening process? 

(a) Stop talking 

(b) Interpreting 

(c) Responding 

(d) Receiving 



 

 

 

5. __________ is the last step of the listening process. 

(a) Receiving 

(b) Interpreting 

(c) Responding 

(d) Stop talking 



 

 

 

6. Hearing means perceiving with ears. 

(a) True 

(b) False 

 

 



 

 

 

7. Which of these is not a type of listening? 

(a) Appreciative listening 

(b) Superficial listening 

(c) Focused listening 

(d) Musical listening 



 

 

 

8. Which of these types of listening lacks depth? 

(a) Appreciative listening 

(b) Superficial listening 

(c) Focused listening 

(d) Evaluative listening 



 

 

9. In which of these types of listening, does the listener 
feel grateful? 

(a) Superficial listening 

(b) Attentive listening 

(c) Appreciative listening 

(d) Evaluative listening 



 

 

10. Which of these types of listening is followed by skilled 
listeners? 

(a) Focused listening 

(b) Evaluative listening 

(c) Attentive listening 

(d) Empathetic listening 



 

 

11. In which of these, the listener puts himself in place of 
the speaker? 

(a) Focused listening 

(b) Evaluative listening 

(c) Attentive listening 

(d) Empathetic listening 



 

 

 

 

12. A successful manager should be a trained listener. 

(a) True 

(b) False 



 

 

13. Which of these should be avoided for effective 
listening? 

(a) Pre-listening analysis 

(b) Listening to structured talks 

(c) Team listening 

(d) Predicting 



 

 

14. In which of these does the listener pick up special 
features of the speech? 

(a) Listening in conversational interaction 

(b) Listening to structured talks 

(c) Predicting 

(d) Team listening 



 

 

15. A well organised talk is a __________ talk. 

(a) short 

(b) long 

(c) random 

(d) structured 



 

 

16. Which of these should be avoided in pre-listening 
analysis? 

(a) Mental discipline 

(b) Concentration 

(c) Prejudices 

(d) Patience 



 

 

 

17. 4 P’s of marketing: 

(a) Price, Plan, Place, Product 

(b) People, Planet, Plant, Product 

(c) Price, Product, People, Promotion 

(d) Product, Price, Place, Promotion 



 

 

18. Pricing strategy that involves setting lower prices in 
order to discourage potential new entrants to suppliers 
market:  

(a) Penetration Policy  

(b) Skimming 

(c) Pre-Emptive Pricing  

(d) Market Price 



 

 

19. A skill, resource or other advantage that firm has 
relative to its competitors that is important to serving the 
needs of customer in market place: 

(a) Strength  

(b) Weakness 

(c) Opportunity  

(d) Threat 



 

 

 

20. Limitation or lack of skills in effective performance:  

(a) Strength  

(b) Weakness 

(c) Opportunity  

(d) Threat 
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                     LOGICAL REASONING 
(1-10 MCQs x 2 Marks = 20 Marks)  

(11 -15 MCQs x 1 Mark = 05 Marks) 



 

 

 
 
1. 5,16,49,104, ? 
(a) 171 
(b) 181 
(c) 191 
(d) 161 

 



 

 

 
 
2. 8,7,11,12,14,17,17,22, ? 
(a) 27 
(b) 20 
(c) 24 
(d) 22 

 



 

 

 
 
3. 2,6,12,20,30,42,56, ? 
(a) 61 
(b) 64 
(c) 70 
(d) 72 

 



 

 

 
 
4. 4, -8, 16, -32, 64, ? 
(a) 128 
(b) -128 
(c) 192 
(d) -192 

 



 

 

 
 
5. 7, 26, 63, 124, 215, 342, ? 
(a) 481 
(b) 511 
(c) 391 
(d) 421 

 



 

 

 
6. If the letters in the word RUTHENIUM are 
rearranged in the alphabatical order, which letter will 
be second to the right of middle letter? 

A. I  
B. T 
C. N 
D. R 



 

 

 
7. What should come next in the following letter 
sequence? 
A A B A B C A B C D A B C D E A B C D 

A. A  
B. E 
C. C  
D. B 



 

 

 
8. Arrange the given words in alphabetical order and 
choose the one that comes at the second plan 

A. Bathing  
B. Banking  
C. Backing  
D. Banishing  

 



 

 

 
9. Arrange the following words will come in middle if all of them are arranged 
alphabetically as in a dictionary? 

A. Tennis 
B. Tendon 
C. Tender 
D. Tempest 

 

Analyze the below arrangement carefully and try to answer below question: 
S L 1 R % 4 J E # 7 M T 2 I 9 B H 3 A $ 9 F Q 5 D G 6 U S P 

 



 

 

 
10. Which of the following will be second element to the left of the ninth 
element from right end? 

A - $ 
B - 5 
C - Q 
D - B 

 
Study the following arrangement carefully and answer the question given 
below: 
G Q W 3 & A 9 8 @ * V S ^ 4 H X P L M K 1 4 5 D 



 

 

 
11. Which is the 16th to the right of 2nd from left? 

A - L 
B - D 
C - V 
D - S 

 

 



 

 

12. Arrange the words given below in a meaningful sequence. 
1. Key 
2. Door 
3. Lock 
4. Room 
5. Switch on 
 

A.5, 1, 2, 4, 3 
B.4, 2, 1, 5, 3 
C.1, 3, 2, 4, 5 
D.1, 2, 3, 5, 4 

 



 

 

13. Arrange the words given below in a meaningful sequence. 
1. Word 
2. Paragraph 
3. Sentence 
4. Letters 
5. Phrase 

A.4, 1, 5, 2, 3 
B.4, 1, 3, 5, 2 
C.4, 2, 5, 1, 3 
D.4, 1, 5, 3, 2 



 

 

14. Arrange the words given below in a meaningful sequence. 
1. Police 
2. Punishment 
3. Crime 
4. Judge 
5. Judgement 
 

A.3, 1, 2, 4, 5 
B.1, 2, 4, 3, 5 
C.5, 4, 3, 2, 1 
D.3, 1, 4, 5, 2 

 



 

 

 
15. Arrange the words given below in a meaningful sequence. 
1. Family 
2. Community 
3. Member 
4. Locality 
5. Country 
      A.3, 1, 2, 4, 5 

B.3, 1, 2, 5, 4 
C.3, 1, 4, 2, 5 
D.3, 1, 4, 5, 2 



 

 

 
 

 
 
 
 
 
 



 

 

 
 
 
 
 
 
 

 



 

 

                          ECONOMICS  
             AND BUSSINESS ENVIRONMENT 
1a 2d 3c 4a 5d 6a 7c 8d 9b 10a

11a 12a 13a 14c 15a 16a 17d 18a 19c 20b

21d 22a 23d 24d 25a 26b 27d 28a 29c 30a

31a 32d 33c 34a 35c      



 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 

 

                              CURRENT AFFAIRS 
 

1 A 2 A 3 B 4 B 5 C 

6 C 7 D 8 A 9 B 10 B 

11 A 12 C 13 B 14 A 15 A 
 
 
 
 
 



 

 

                  BUSSINESS.COMMUNICATION  
1 D 2 A 3 D 4 D 5 A 
6 D 7 B 8 C 9 C 10 B 
11 A 12 B 13 D 14 D 15 C 
16 C 17 B 18 A 19 D 20 C 
21 C 22 B 23 B 24 C 25 A 
26 B 27 A 28 A 29 B 30 C 
31 C 32 B 33 C 34 B 35 C 



 

 

 
 

                                       LEGAL APTITUD 
 

1 D 2 D 3 B 4 B 5 A 

6 A 7 B 8 B 9 D 10 C 

11 D 12 A 13 B 14 C 15 B 

16 A 17 A 18 D 19 B 20 D 



 

 

 
 

                                PRESENTATION SKILLS 
 

1 B 2 C 3 A 4 B 5 C 

6 A 7 D 8 B 9 C 10 B 

11 D 12 A 13 D 14 A 15 D 

16 C 17 D 18 C 19 A 20 B 



 

 

 
 

                        LOGICAL REASONING 
 

1 B 2 B 3 D 4 B 5 B 

6 B 7 B 8 D 9 B 10 A 

11 A 12 C 13 D 14 D 15 A 

 

 
 
 



 

 

 
 
 
 
 
 

   Thank you  
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